Day 3 Answers

Task 1 Task 2 Task 3
SATs Book Activities Arithmetic Problem Solving/ Reasoning
Developing/ Expected Task 1
(a) (19.25)
P 47, Coordinates 8.  124.50r 124% ! Coordinates
(b) (-6.19)
! Gives values for A and B transposed
8. 1457 Award 1m for part (b) only, ie: ?
- Ais (=6, 19) and B is (19, 25)
10. 90.3 Task 2
(a) « boxesfor: (3.2), (54)and (109).
. 11. 1253 All three coordinates must be ticked for the mark to be
_-f'-oa-:-rs*»l-a O SRR awarded.
| Awsrtd 2 marks for a corecthy asmed shiew
pe trawm on grid as shown here
ward 1 mark for all cordinatus cormetly B0 12. 1078 (b)  Explains that (11,12} cannot be on the line because the value of the first number is
| on whag unnarmeel, . .
P always one more than the value of the second number in the coordinate, eg (9,8), or
P er. . 13. 60 similar explanation.
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* bacassn the coandnate (1.4) shoud be positioned at (7.4)
* (9,0 aned (5.0) arn four suams apart but (5.4) and (0,4 ace not
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Explanation can use words or diagrams.

Task 3
(a) Mo AND appropriate supporting reason, eg

‘Because the y number must be 3 bigger than the x number

‘yis always bigger than x but 103 is less than 100 when you are minus’

‘Because the co-ordinates are the wrong way round’
No mark is awarded for No’ alone.
If the child has not ticked ‘No” award one mark only if the
explanation makes it clear why the line does not pass
through
the point (=100, —103).
Do not accept a correct explanation if Yes' has been clearly
indicated.

(b)) y=x+30Ry=3+x




